ECO PLATFORM

V'epddanmark EDD

VERIFIED

Owner: Arku ApS

No.: MD-25187-EN
Issued: 24-10-2025
Valid to: 24-10-2030

3rd PARTY VERIFIED

VERIFIED ENVIRONMENTAL PRODUCT DECLARATION | ISO 14025 & EN 15804




ﬁ:[itle(cgral eOddonmork

acoustic panels

Owner of declaration

Sgren Frichs Vej 54b,

DK-8230 Aabyhe] Architectural
CVR: 45482448 acoustic panels
https://arku.dk/en

Programme

EPD Danmark epddanmark
O Industry EPD Product specific

Product EPD O Average

O Worst Case

Declared product
Acoustic panels

Number of declared datasets/product variations: 1

Production site
One specific supplier & warehouse in Herning (Denmark)

Use of Guarantees of Origin
No certificates used

O Electricity covered by GO

O Biogas covered by GO

Functional unit

1 m2 of acoustic panel with a reference service life of 50
years and acoustic performance class, sound absorption, of
Class A.

Sl e
Sound absorption is based on measurements according to ) ad ///7&\—/
EN ISO 354 and classification according to EN ISO 11654.

Year of production site data (A3)
2024 ) /

EPD version Yafls Prénsen
Version 1.0. ¥ f

System Boundary - X: Module declared in LCA, ND: Module not declared in LCA
Construc Beyond the
Product -tion Use End-of-Life system
process boundary
_ o Fe) c
i + £ + c 3] E GC) © Y © 8 = + (o)} =
8> 6 5| 5 |22 E . ¢ E 535888 5 .2 3 s 2>Z
ma 2 ©  mg 9 c ® ¢ | § S>=BL 55 2 BA o w5 25
ES 2| 8| c |88 3| & | §| 8|5 |C2pLe|BE|l |88 & 23528
za & 3| & Bg E & 4 5 29 ¢® 58 & o & < g&s
g "~ g " = = g § 685 c5%gR ~ & o
Al | A2 | A3 | A4 A5 | Bl1 B2 | B3 B4 | B5 B6|B7 | Cl|C2|C3 | C4 D
X X X X | X X X X | X | X X X X X X X



https://arku.dk/en
http://www.epddanmark.dk/

Arku

Architectural
acoustic panels

Product information

The product materials are listed below.

Material Amount Weight-% of
[kgl declared product

VvPET 0,98 40%

rPET 1,48 60%

TOTAL 2,46 100%

VPET: Virgin PET, rPET: Recycled PET.

Product packaging is listed below.

- Amount Weight-% of sales
Packaging [kgl packaging
Wooden 0,0633 67,9%
pallets
gard board 0,0267 28,6%

oxes
LDPE-film 0,0033 3,5%
TOTAL 0,0933 100%

The EPD covers the functional unit:

1 m2 of acoustic panel with a reference service
life of 50 years and acoustic performance class
(sound absorption) of Class A. Sound absorption
is based on measurements according to EN ISO
354 and classification according to EN ISO
11654.

Data covers the period 01.01.2024 - 31.12.2024
and includes both Arku’s own production data and
the EPD for the acoustic panels manufactured and
sold by Arku.

Background data is from the EN 15804 ecoinvent
database (v.3.10). The background datasets used
are of high quality, generally only a few years old
and in accordance with EN 15804+A2.

The EPD covers sales (A4), installation (A5), use
(B1-B7) and End-of-Life (C1-C4) in Denmark.

epddanmark

The acoustic panels do not contain substances lis-
ted on the REACH Candidate List, “"Candidate List
of substances of very high concern for Authorisa-
tion”, in quantities exceeding 0,1% by weight.

http://echa.europa.eu/candidate-list-table

The acoustic panels are intended for ceiling instal-
lation to reduce reverberation and echo in envi-
ronments such as private homes, offices, meeting
rooms and public buildings. Ceiling mounting pro-
vides an even distribution of sound absorption ac-
ross the space.

The acoustic panels have the following properties:

e A thickness of 12 mm

e A weight of 2,46 kg/m2

e Documented fire classification of Bs1DO in
accordance with EN 13501-1

e Acoustic performance (sound absorption)
of Class A according to EN ISO 354 & EN
ISO 11654

Further technical information can be obtained by
contacting Arku.

https://arku.dk/en

The reference service life is set to correspond to
the building’s design life which is typically betwe-
en 50 and 60 years, in accordance with cPCR-014
Acoustical ceiling and wall solutions. In this EPD,
the reference service life is set to be 50 years.


http://echa.europa.eu/candidate-list-table
https://arku.dk/en

ﬁ:!:itle(cgral eOOdonmork

acoustic panels

LCA background

The LCI and LCIA results, presented in this EPD, Arku does not purchase guarantees of origin (GO)
refer to 1 m2 of acoustic panel. for green electricity. The electricity consumption
in module A3 is therefore modelled using the Da-
Functional unit 1| m2 nish residual mix. See the table below for further
information.
The material properties are described, see section Residual mix, 0,63 kg CO2e/kWh

Denmark 2022

“Essential characteristics” on the previous page.

The background system is modelled using aggre-

gated ecoinvent processes that use grid mixes.
This EPD is developed according to the core rules

for the product category of construction products
in EN 15804+A2 and the rules in cPCR-014 Aco-
ustical ceiling and wall solutions (v.1.0.0, 2025).

The conversion factor to 1 kg is 0,41.

Acoustic Panels Electricity, District Heating Incineration
(40% vPET, 60% rPET) (warehouse) (sales packaging)

A2: Transport A4: Transport

| Energy Recovery I

C2: Transport

B [ ctomm ]

Incineration
(Acoustic Panels)

System Boundary
VPET: Virgin PET, rPET: Recycled PET.

MD-25187-EN | Arku ApS | Page 4 of 10



Arku

Architectural
acoustic panels

This EPD is based on a cradle-to-grave LCA. All
relevant and significant processes are included.

The cut-off criterium per module is set at a max-
imum of 5% of energy usage and mass while the
cut-off criterium per unit process is set at a max-
imum of 1% of energy usage and mass. This is in
compliance with the rules stated in EN 15804+A2,
6.3.6. There are no known excluded processes.

Product stage (A1-3) includes:

Al - Extraction and processing of raw materials
A2 - Transport to the production site
A3 - Manufacturing processes

Arku has the acoustic panels produced by a long-
term partner and receives them at its own ware-
house before distributing them to customers.

The manufacturing of the acoustic panels includes
the following processes: carding, punching, pres-
sing and cutting.

The LCI and LCIA results are presented in aggre-
gated form for the product stage. Modules A1, A2
and A3 are therefore combined into a single mo-
dule, A1-A3.

Construction process stage (A4-5) includes:

It has not been possible to calculate an average
transport distance from the warehouse to Arku’s
customers - covering the data collection period.
Module A4 is therefore modelled with a transport
distance of 200 km as an estimate for distribution
within Denmark, which is where Arku’s customers
are located. This distance covers the majority of
Denmark from the warehouse.

The installation of the acoustic panels is carried
out manually using simple hand tools such as a
ruler and a utility knife as well as an adhesive.

Sales packaging is waste treated in module A5.

epddanmark

Use stage (B1-7) includes:

There are no activities or environmental impacts
during the use phase of the acoustic panels.

End-of-Life (C1-4) includes:

It is uncertain how the acoustic panels will be de-
constructed/demolished. The deconstruction/de-
molition is expected to be carried out manually.
However, to be conservative, a diesel consumpti-
on is modelled.

At the End-of-Life, the acoustic panels can either
be recycled or incinerated. In this EPD, a 100%
incineration scenario is modelled in module C3.

Transport to incineration is modelled with an as-
sumed distance of 100 km in module C2.

Potential for reuse, recycling and energy re-
covery (D) includes:

Module D includes benefits from the avoided pro-
duction of average Danish electricity and thermal
energy as the acoustic panels & sales packaging
are incinerated.

Crediting only applies to virgin materials. Recyc-
led materials cannot be credited. Therefore, only
the virgin PET inputs, modelled in module Al, are
credited for energy recovery.



Arku

Architectural

epddanmark

acoustic panels

LCA results

ENVIRONMENTAL IMPACTS PER M2 ACOUSTIC PANEL DURING 50 YEARS

Parameter Unit A1-A3 A4 A5 B1-B7 C1 Cc2 C3 c4 D
GWP-total |[kg CO2 eq.]|9,09E+00 | 9,69E-02 | 4,65E-01 | 0,00E+00 | 1,20E-02 | 4,75E-02 | 5,07E+00 | 0,00E+00 | -1,50E-01
GWP-fossil |[kg CO2 eq.]|9,22E+00 | 9,69E-02 | 3,26E-01 |0,00E+00 | 1,20E-02 | 4,75E-02 | 5,07E+00 | 0,00E+00 | -1,49E-01
bi(c;J\g/]VePr;ic [kg CO2 eq.]|-1,38E-01| 0,00E+00 | 1,38E-01 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00
GWP-luluc |[kg CO2 eq.]| 7,14E-03 | 3,22E-05 | 8,36E-04 | 0,00E+00 | 1,04E-06 | 1,58E-05 | 8,37E-06 | 0,00E+00 |-7,04E-04
OoDP (kg eC;F(]: 11 1,47E-05 | 1,93E-09 | 1,16E-08 | 0,00E+00 | 1,84E-10 | 9,44E-10 | 1,05E-09 | 0,00E+00 | -5,32E-09
AP [mol H* eq.]| 548E-02 | 2,02E-04 | 1,61E-03 |0,00E+00 | 1,08E-04 | 9,89E-05 | 9,47E-04 | 0,00E+00 | -1,38E-03
EP- [kg P eq.] | 1,93E-03 | 6,56E-06 | 9,57E-05 | 0,00E+00 | 3,50E-07 | 3,22E-06 | 5,57E-06 | 0,00E+00 | -1,03E-04
freshwater
EP-marine | [kg N eq.] | 1,21E-02 | 4,85E-05 | 2,90E-04 | 0,00E+00 | 5,03E-05 | 2,38E-05 | 6,38E-04 | 0,00E+00 |-3,13E-04
EP-terrestrial| [mol N eq.] | 1,26E-01 | 5,23E-04 | 3,14E-03 | 0,00E+00 | 5,51E-04 | 2,56E-04 | 5,10E-03 | 0,00E+00 | -4,55E-03
POCP [ka ('e\lqM]VOC 4,46E-02 | 3,35E-04 | 1,17E-03 | 0,00E+00 | 1,64E-04 | 1,64E-04 | 1,25E-03 | 0,00E+00 | -9,24E-04
ADPmM? [kg Sb eq.] | 3,88E-04 | 3,15E-07 | 3,96E-06 | 0,00E+00 | 4,19E-09 | 1,54E-07 | 9,67E-08 | 0,00E+00 | -4,23E-06
ADPf! [MJ] 1,49E+02 | 1,36E+00 | 5,49E+00 | 0,00E+00 | 1,57E-01 | 6,68E-01 | 5,33E-01 | 0,00E+00 (-2,33E+00
[m3 world
WDP! eq. 1,45E+00 | 7,67E-03 | 1,18E-01 | 0,00E+00 | 4,61E-04 | 3,76E-03 | 4,09E-02 | 0,00E+00 | -3,28E-01
deprived]
GWP-total = Global Warming Potential - total; GWP-fossil = Global Warming Potential - fossil fuels;
GWP-biogenic = Global Warming Potential - biogenic; GWP-luluc = Global Warming Potential - land use
and land use change; ODP = Ozone Depletion; AP = Acidification; EP-freshwater = Eutrophication -
Caption aquatic freshwater; EP-marine = Eutrophication — aquatic marine; EP-terrestrial = Eutrophication -
P terrestrial; POCP = Photochemical zone formation; ADPm = Abiotic Depletion Potential — minerals and
metals; ADPf = Abiotic Depletion Potential - fossil fuels; WDP = water depletion potential
The numbers are declared in scientific notation, fx 1,95E+02. This number can also be written as:
1,95%102 or 195, while 1,12E-11 is the same as 1,12*10*! or 0,0000000000112.
Disclaimer ! The results of this environmental indicator shall be used with care as the uncertainties on these results

are high or as there is limited experienced with the indicator.

ADDITIONAL ENVIRONMENTAL IMPACTS PER M2 ACOUSTIC PANEL DURING 50 YEARS

Parameter Unit A1-A3 A4 A5 B1-B7 C1 C2 C3 c4 D

PM _[D_isease 6,11E-07 | 7,13E-09 | 1,53E-08 | 0,00E+00 | 3,08E-09 | 3,50E-09 | 5,06E-09 | 0,00E+00 |-1,33E-08

incidence]

IRP2 [kngU]BS 5,28E-01 | 1,77E-03 | 2,03E-02 | 0,00E+00 | 7,04E-05 | 8,67E-04 | 8,87E-04 | 0,00E+00 |-4,87E-02
ETP-fw! [CTUe] 3,47E+01| 3,71E-01 | 1,54E+01 | 0,00E+00 | 2,23E-02 | 1,82E-01 | 2,21E+00 | 0,00E+00 |-1,10E+00
HTP-ct [CTUh] 6,40E-09 | 6,88E-10 | 3,95E-09 | 0,00E+00 | 4,70E-11 | 3,37E-10 | 7,09E-10 | 0,00E+00 |-8,11E-10
HTP-nct [CTUR] 8,23E-08 | 8,82E-10 | 5,38E-09 | 0,00E+00 | 2,13E-11 | 4,32E-10 | 9,18E-09 | 0,00E+00 | -6,09E-09

SQP? - 6,82E+01 | 8,23E-01 | 1,01E+00 | 0,00E+00 | 1,10E-02 | 4,03E-01 | 1,01E-01 | 0,00E+00 |-1,58E+01

PM = Particulate Matter emissions; IRP = Ionizing radiation — human health; ETP-fw = Ecotoxicity -
freshwater; HTP-c = Human toxicity — cancer effects; HTP-nc = Human toxicity — non cancer effects;
Caption SQP = Soil Quality (dimensionless)
The numbers are declared in scientific notation, fx 1,95E+02. This number can also be written as:
1,95*102 or 195, while 1,12E-11 is the same as 1,12*10*! or 0,0000000000112.
! The results of this environmental indicator shall be used with care as the uncertainties on these
results are high or as there is limited experienced with the indicator.
2 This impact category deals mainly with the eventual impact of low dose ionizing radiation on human
Disclaimers health of the nuclear fuel cycle. It does not consider effects due to possible nuclear accidents,

occupational exposure nor due to radioactive waste disposal in underground facilities. Potential ionizing
radiation from the soil, from radon and from some construction materials is also not measured by this

indicator.




Arku epodanmark

acoustic panels

RESOURCE USE PER M2 ACOUSTIC PANEL DURING 50 YEARS

Parameter Unit A1-A3 A4 A5 B1-B7 C1 c2 Cc3 C4 D
PERE [MIJ] 8,98E+00 | 2,34E-02 | 2,98E-01 | 0,00E+00 | 9,62E-04 | 1,15E-02 | 1,46E-02 | 0,00E+00 |-6,18E+00
PERM [MIJ] 1,25E+00 | 0,00E+00 (-1,25E+00| 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00
PERT [MIJ] 1,02E+01 | 2,34E-02 |-9,57E-01 | 0,00E+00 | 9,62E-04 | 1,15E-02 | 1,46E-02 | 0,00E+00 |-6,18E+00
PENRE [MIJ] 9,28E+01 | 1,36E+00 | 5,49E+00 | 0,00E+00 | 1,57E-01 | 6,68E-01 | 5,33E-01 | 0,00E+00 |-2,33E+00
PENRM [MIJ] 5,66E+01 | 0,00E+00 |-1,40E-01 | 0,00E+00 | 0,00E+00 | 0,00E+00 |-5,65E+01| 0,00E+00 | 0,00E+00
PENRT [MIJ] 1,49E+02 | 1,36E+00 | 5,35E+00 | 0,00E+00 | 1,57E-01 | 6,68E-01 |-5,59E+01| 0,00E+00 |-2,33E+00

SM [ka]l 1,48E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00
RSF [MIJ] 1,76E-05 | 8,00E-06 | 1,34E-05 | 0,00E+00| 1,71E-07 | 3,92E-06 | 2,67E-06 | 0,00E+00 |-9,44E-06
NRSF [MIJ] 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00
FW [m3] 3,92E-02 | 1,89E-04 | 2,88E-03 | 0,00E+00 | 1,12E-05 | 9,26E-05 | 9,60E-04 | 0,00E+00 |-7,94E-03

PERE = Use of renewable primary energy excluding renewable primary energy resources used as
raw materials; PERM = Use of renewable primary energy resources used as raw materials; PERT =
Total use of renewable primary energy resources; PENRE = Use of non-renewable primary energy
excluding non-renewable primary energy resources used as raw materials; PENRM = Use of non-
Caption renewable primary energy resources used as raw materials; PENRT = Total use of non-renewable
primary energy resources; SM = Use of secondary material; RSF = Use of renewable secondary

fuels; NRSF = Use of non-renewable secondary fuels; FW = Net use of fresh water

The numbers are declared in scientific notation, fx 1,95E+02. This number can also be written as:

1,95*102 or 195, while 1,12E-11 is the same as 1,12*10!! or 0,0000000000112.

WASTE CATEGORIES AND OUTPUT FLOWS PER M2 ACOUSTIC PANEL DURING 50 YEARS

Parameter Unit A1-A3 A4 A5 B1-B7 C1 C2 C3 Cc4 D
HWD kgl 3,36E-02 | 1,99E-03 | 2,48E-02 | 0,00E+00 | 1,76E-04 | 9,75E-04 | 2,80E-02 | 0,00E+00 |-1,39E-02
NHWD kgl 1,34E+00 | 4,20E-02 | 7,65E-01 | 0,00E+00 | 2,40E-03 | 2,06E-02 | 2,62E+00 | 0,00E+00 |-5,04E-01
RWD kgl 1,30E-04 | 4,39E-07 | 5,17E-06 | 0,00E+00 | 1,73E-08 | 2,15E-07 | 2,23E-07 | 0,00E+00 |-1,11E-05
CRU [kg] 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00
MFR [kg] 4,08E-02 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00
MER [kg] 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 0,00E+00
EEE [M]1] 0,00E+00 | 0,00E+00 | 1,80E-01 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 7,31E+00 | 0,00E+00 | 0,00E+00
EET [M]1] 0,00E+00 | 0,00E+00 | 3,60E-01 | 0,00E+00 | 0,00E+00 | 0,00E+00 | 1,43E+01 | 0,00E+00 | 0,00E+00

HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed; RWD = Radioactive
waste disposed; CRU = Components for re-use; MFR = Materials for recycling; MER = Materials for
Caption energy recovery; EEE = Exported electrical energy; EET = Exported thermal energy
The numbers are declared in scientific notation, fx 1,95E+02. This number can also be written as:

1,95*10? or 195, while 1,12E-11 is the same as 1,12*10*! or 0,0000000000112.

BIOGENIC CARBON CONTENT PER M2 ACOUSTIC PANEL DURING 50 YEARS

Parameter Unit At the factory gate
Biogenic carbon content in
product [kg C] 0,00
Biogenic carbon content in [kg C] 0,038

sales packaging

Note 1 kg biogenic carbon is equivalent to 44/12 kg of CO2




Arku

Architectural
acoustic panels

Vepddanmark

Additional information

Technical information on scenarios
Transport to the building site (A4)

Fuel type Diesel -
Vehicle type Lorry, }E?J_F:{% 6tonnes, ]
Transport distance 200 km

Installation of the product in the building (A5)

Energy type - -
Energy consumption 0,00 kWh
Waste amount (sales packaging) 0,0933 kg

Reference Service Life (RSL)

Reference Service Life (RSL) 50 yr

End-of-Life (C1-C4)

Collected with mixed waste 2,46 kg
For energy recovery 2,46 kg

Potential for reuse, recycling and energy recovery (D)

Energy recovery from waste incineration (electrical energy) 3,10 M]
Energy recovery from waste incineration (thermal energy) 6,09 MJ

Data Quality Assessment
Data quality has been assessed in accordance with Table E.1 in Annex E of EN 15804+A2 & EN 15491:2024.

Geography: Overall, Good
Technical: Overall, Very Good
Time: Overall, Very Good

A few processes have been assessed as fair for Geography. Only one of these processes contributes more

than 30% to the core environmental impact categories - incineration in module C3 to GWP-fossil.

Indoor air

The EPD does not give information on the release
of dangerous substances to indoor air. The hori-
zontal standards for the relevant measurements
are not available.

Read more in EN15804+A2, Chapter 7.4.1.

Soil and water

The EPD does not give information on the release
of dangerous substances to soil & water. The hori-
zontal standards for the relevant measurements
are not available.

Read more in EN15804+A2, Chapter 7.4.2.

MD-25187-EN | Arku ApS | Page 8 of 10



ﬁ:[itle(cgral eOddonmork

acoustic panels

References

Publisher
epddanmark

www.epddanmark.dk

Programme operator Danish Technological Institute
Gregersensvej 1, DK-2630 Taastrup
www.teknologisk.dk

LCA-practitioner Transition ApS
Regnbuepladsen 7, DK-1550 Kgbenhavn V
Emma Ekebjaerg, Hannibal Holm Johansen
https://transition.nu/

LCA software/background data SimaPro 9.6.0.1 & ecoinvent v.3.10 (EN 15804)

3rd party verifier David Althoff Palm, Dalemarken AB

Verified according to Verification Checklist 1,
v.2.9

General Programme Instructions
General Programme Instructions, version 3.0, spring 2025
www.epddanmark.dk

Technical Rules and Guidelines
Technical Rules and Guidelines, version 1.0, spring 2025
www.epddanmark.dk

EN 15804
DS/EN 15804+A2:2019 - "Sustainability of construction works - Environmental product declarations -
Core rules for the product category of construction products”

cPCR-014 (v.1.0.0)
EPD International - "Acoustical ceiling and wall solutions” (2025)

EN 15942
DS/EN 15942:2011 - "Sustainability of construction works - Environmental product declarations -
Communication format business-to-business”

ISO 14025
DS/EN ISO 14025:2010 - "Environmental labels and declarations - Type III environmental declarations -
Principles and procedures”


http://www.teknologisk.dk/
https://transition.nu/
http://www.epddanmark.dk/
http://www.epddanmark.dk/

ﬁ:[itle(cgral eOddonmork

acoustic panels

ISO 14040

DS/EN ISO 14040:2008 - "Environmental management - Life cycle assessment - Principles and
framework”

ISO 14044

DS/EN ISO 14044:2008 - "Environmental management - Life cycle assessment - Requirements and
guidelines”



